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Matemáticas 3º E.S.O. 
Nombre                                                                                                                            
      
                                                       Fecha                                          Evaluzción            
Nota: En el examen no se puede usar ni lápiz, ni corrector. 

Calificación 

 
1. (4 p.) Resuelve 
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2. (4 p.) Completa con las dos partes que faltan en cada caso: 

a. { }1/ −<ℜ∈= xxA  

b. { }12/ +<≤−ℜ∈= xxB  

c. { }2/ ≥ℜ∈= xxC  

d. ( ]6,2−=A  

e. ( ]3,∞−=B  

 
3. (2 p.) Resuelve 

a. =−+ 36,02,37,3
)

 

b. ( ) ( ) =+÷+ 6,325,44,56,0
)))

 


